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This question paper consists of 2 sections A and B.

Section A has 30 questions in all. All are compulsory

Marks are indicated against each question

Questions from serial number 1 to 8 are very short answers Each carries 1 mark
Questions from serial number 9 to 20 are 3 mark questions. Answers to these
questions should not exceed 80 words each.

Questions from serial number 21 to 28 are 5 mark questions. Answers to these
questions should not exceed 120 words each.

Question number 29 and 30 are map questions of 3 marks each from
Geography and History. Attach these maps inside your answer book.

Section B is of Open Text- Based Assessment (OTBA) of 10 marks .



g ' A ' SECTION ‘A’
1. AP BT § a91 BT GG F F7 ber T 7 (L)

Why were forests cleared off rapidly during the colonial period ? (1)

94T OR

afafed FXER 7 Il qared & HeT H 9gEl & AR 9
T BT JIadTT 1 [

[RaT 7
Why did the colonial government introduce the grazing tax in the

mid 19" century?
FIaT OR
IEdl el | g ARH & @l AT Al BT AEd I 7

Why were peasants in the 19" century unwilling to cultivate opium in India?

~

2. AU b oA oI WITIAT 1848 H [ a1 7

Who founded the oriental cricket club in 1848 ? (1)

4T OR

AU & [a%qy FIS H dlbiad IR & ©F | [HaT FANT [T 7
Who used cloth as symbolic weapon against the British Rule ?

3.ATHAT H AT AT AR Erad o i & fog fopa @i
e g 7

How many seats are reserved for the Scheduled Castes and Scheduled Tribes in
the Lok Sabha ? (1)

4. QAT ITAT ' AT FTTTT FT gad 3 ATHT &,0ar fopa
Fel ?

Who called the right to constitutional remedies , “ The heart and Soul” of our
constitution ? (1)



5. THA®] SaTAYAA #T g 7

What is Amnesty International ? (1)

6. 9F9= A § Tl I FA & ¢ 7 IUT [0 U |
What measure was taken by West Bengal in reducing poverty ? (1)
7. & YR # q@qd & A fafgu |
Name two types of hunger. (1)
8. W & & T qTeqd g 7
What is food security ? (1)

o o

0.9 B JAdT 7 AYS & fgATh fagig &= A 7 IAAF

o o~

T AU & Rgerw few IR O fagig  JeAr gars ¢

Why did the people of Bastar protest against the British ? How did they organise a
rebellion against the British ? (1+2=3)

JI4dT OR

AITTATTF TEFR 7 9 § a9 9 FHT F A f6ar 2 g9 HeA
¥ FETEl & Sitad H R qiEdd A ?

Why did the colonial government introduce the waste land rules in India ?

How did these rules change the life of pastoralists ? (1+2=3)

AI4T OR

AR framT &l b T § fgfesr 93 5 %y & @dl & g
qreq o 7

How were Indian farmers forced to grow opium by the British ? (3)

10.97 ' faeefl TR ' & qrag & wAfeg F1 e ¥ v dR frefatad

U9l & Jed¥ AT |




Study the climate data of station A (Delhi) and B (Mumbai) and answer the following
questions

Station 3T faeedl A (Delhi)

Hlg Jan | Feb | Mar | Apr | May | Jun | July | Aug | Sep | Oct | Nov | Dec
MONTH

arqer (15 (16 (241130 |33 |33 |30.2/28.6|27.5|251|18.1|15.2

Temp in
°C

YT 3 |2 2 15|25 |75]19 |178|142(25 |15 |15
g ¥
Rainfall
in cms

Station & H¥IE B (Mumbai)

g Jan | Feb | Mar | Apr | May |Jun |July | Aug | Sep |Oct | Nov | Dec

MONTH

qraHT™ | 24.1 1242|1264 1268|301 28227827 |26.8|25.1|258]|15.6

Temp in
°C

T 15 [15 [0 [0 [36 [366[46.7325[285[55 [25 [0
g ¥

Rainfall
in cms

i ITH G B g W 9T IR au7 gidl g 7 i} feadr ¢
i TTH B W H A qIIHE @ T Afae g ;o

I.Which station receives the highest annual rainfall and how much is it? (1)

1.Which station has the higher annual range of temperature and why ? (1+1 =2)

11. T # WEEA Tk GH Tl ¢ | 99 & GHIT | qa 4T |
Monsoons in India are not evenly spread . Justify the statement. (3)
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12,35 FHieadiT qeragr a9 A Tl o9 & d9 & Hle diT Ad]
fTfEy |

Write any three differences between tropical evergreen and deciduous
forests. (1% +1%=23)

13. 9TET AR S Fufed & Tl & [0 9d 9L q@rd I3 T &g
9 @Fedl & G # fafau
What are the measures adopted by the government to protect flora and fauna in
India? Explain any three (3)

14, ATEET & dF H&F A 99 & gag § [y |
Describe the three broad categories of the population . (3)

15. <[ATEl FGIMTEr 1 o SR8l 9 Jbd Sy |

What are the three demerits of an electoral competition ? Explain . (3)

16. U& A <A1F dfgdl #&T g 7
What is a model code of conduct ? (3)

[aY

17.9H1{de FAIAE Td WA HEIAE & ard & AdL &l T

FIT |

Distinguish between the political executive and the permanent executives. (3)

18. TEIT 2005 ITHT ARN & {7 fobq dX® & e fagy gar & 7
In what way the NREGA 2005 proved to be beneficial to the rural

people ? (3)

19. 3T ATIHT T & [ TS @1 & ATHAT BT adATT dUHN Irad g 7
qIT Ical & GHIT § TEl Tob QT |
Do you think that present methodology of poverty estimation is appropriate ?
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Support your answer with proper explanation. (3)

20,7 ATIHT oTAT & foF gfRaaplld § 9 &1 @ear & Ao |

ATCHTHT AT ? AT Icax il Iite ST |

Do you believe that Green Revolution has made India self sufficient in foodgrains?
Support your answer. (3)

21 & AL § ATT 7 GHAT & ? I TR F Tl BT

X U FT AT ?

What is shifting cultivation ? Why did the Colonial Government ban the shifting
cultivation ? (1+4=5)

A4 OR

= = ~

HETE U & AN A9 ARG o 9fF & @1 48 7%lg qi= SR
ERIEI

Give any five reasons to explain why the Maasai community lost their grazing
lands (5)

q99T  OR
FT G B T 7 ARG garedl § Tolg H o g4 #T # TG 7

Who was Captain Swing ? Why was the land enclosed in the 18" century in

England ? (1+4=5)

22. Iegdl garedl § fhbe & @ H B B F GG AT M ?
Which changes were introduced in the Game of Cricket during the

19" century ? (5)
A4l OR

NN

W AL & (A7 @Rl T8 HT HGICANET BT qIAT IR & &g AR
T & AT GgE 9w 7

Why did Mahatma Gandhi’s dream of clothing the Nation in Khadi appeal

only to some sections of Indians ? (5)
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23 AfFEAT AR 9a faenfedl & #r wa¥ g 7

Distinguish between amateurs and the professionals (5)

dI4T  OR

R afeae R g ufe™ & faw & T e oar S e
AR I & &= faaE & FR A

What were the differences between European dress code and Indian dress code
which became the reason of conflicts? (5)

2439 HIT HT (G HIIC {6 @RI ATCE T b AGM afqdied g |

“A healthy population is a great asset to the country . Justify the statement. (5)
25. FATAHAT & AT HT AU HIY |
Describe briefly the powers of the Prime Minister. (5)
26. fopegl qi=r At ATTH 1 GAT § o FHIT |

Briefly describe any five fundamental rights. (5)

27. ATTH ATHRX ARG # TH & I FROT 7 &7 Tohal & 7
According to you what could be the major reasons for poverty in India? (5)

28. 9T Wi H FT Hgcd ¢ 7 sl [Fdaul YUl o IYAINTAr IX
T ST |

What is the importance of buffer stock? What are the uses of public distribution

system? (2+3=5)

29f99a & f4U U @1 AW 9 AT ®IEl R g9iey |

A, d&Y
ERNIE]
NERSIRIG]



On the given outline map of the World , locate the following places. (3)

a. Bastar
b. Java
c. Japan

AIAT OR

AT 9T 39 W # Mafvgd #ifT gt I fearelt & ®Wa 9 )
CHIC IR

. TGS

q. grETl

Locate the areas where the following tribal people lived.

a. Banjara
b. Gaddis
c.Somali

AT OR

(e aY

€U T @1 A 9 g =T # 91ey |

A, TS

. I

o

q. HgFd T AAH

Locate the following places :

a. England
b. Bengal
c. USA

30. T & TSiAfae AR | fHfdafaa T 0 g9y |
A, GICERT AN

. afge| S | UEH A $es

q. qRd & 99 "l A6 1T T




On the given outline political Map of India A,B and C features are shown.
With the help of given clues identify and name the places.

a. Wildlife sanctuary

b. Meteorological station

c. The most populous state of India

gs 'd ' SECTION “B’(OTBA)
Theme-1 (Clean Air-a Shared Concern)

T ST 5 ST 997 T THRT At g g@dt id o fore gon ¥
(i) Herdl ST T & Hag H eq9eht frofar €21 dm ?
(ii) sra fofa & o < Rl = v wifT)
(iii) i % IR # ST WrEARl @l T it (1+2+2)
(b) e Tita THRE ST W ST ¥ RER €4 & W ¥ 2 BE & www

TR HIY | JTpiereh MU & =19 /G el s AR iferes gk <M &g
13 91 gIa |

(a) Suppose you have been selected for a governmental job in a far off village.
(i) What shall be your decision regarding joining this job?
(ii) Explain any two reasons for your decision.
(iii) Express your feelings about a village.

(b) Explain any two reasons for the hilly villages to be easy victims of natural
calamities. Suggest any three measures to make villages safer against natural
calamities. (2+3)
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